
To	find	this	4	mm	It	was	used	an	“uplift”	of	0,5mm/yr.	



But this uplift doesn’t exist.  
GPS Cascais: vertical velocity=-0,05+/-0,18mm/yr. 



The	mean	rate	of	sea	level	
change	between	1906	and	
2008	is	-0.70	±	0.27	mm	yr.		
Sea	level		has	decreased!	
	

Leixões:	one	of	the	longest	
series		



Sea level variation at Leixões (PSMSL) 
The available data could indiciate that... 

y = 0,05x + 7038,9
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No	rising	sea	level	at	Porto	area!	It	maybe	uplifting!	



NASA climate data: a new presentation of 
https://data.giss.nasa.gov/gistemp/stdata/  



Iberia climate stations 

Lisbon,	Geophisical	institute	



The “adjustments”: the high 
temperatures in the recent 
past (1998) were discarded 



No more uncorrected data!!! 
They are homogenized! 



The “uncorrected” data: trend=0,0082 

y	=	0,0082x	+	0,3792	
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Lisboa: 1880-2017, "homogenized" data; 
trend=0,0153: almost the double! 

y	=	0,0153x	-	13,978	

14	

14,5	

15	

15,5	

16	

16,5	

17	

17,5	

18	

18,5	

1880	 1900	 1920	 1940	 1960	 1980	 2000	

Lisboa:	1880-2017	("homogenized"	data)	



An hidden cat with this tail off ;-) 
 



Thanks for your attention! 


